Homework #5 Evens Answer Key

Homework

2.5

6. 
[image: image1]g(x) = f(x+1) + 2

12. 
[image: image2]g(x) = 2f(x)

18. 
[image: image3]g(x)=f(x)+1

24. 
[image: image4]g(x)=f(-x)
30. 
[image: image5]

 EMBED Equation.3  [image: image6.wmf]÷

ø

ö

ç

è

æ

=

x

f

x

g

2

1

)

(


36. 
[image: image7]g(x) = f(x – 2)

42. 
[image: image8]
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48. 
[image: image10] g(x) = -f(x+1) -1

54. 
[image: image11]
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60. 
[image: image13]
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66. 
[image: image15]
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72. 
[image: image17]

 EMBED Equation.3  [image: image18.wmf]1

)

(

+

-

=

x

x

h


78. 
[image: image19]
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84.
[image: image21] 
[image: image22.wmf]|
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90. 
[image: image23]
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96. 
[image: image25]
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102. 
[image: image27]
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108. 
[image: image29]
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114. 
[image: image31]
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120. 
[image: image33]
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126. 
[image: image35.wmf]1
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132. replace x with –x

138. 
[image: image36.wmf]2

)

4

(

)

(

+

-

=

x

x

g


144. (a-3,b)

2.6

6. all reals

16. x≠2, x≠10/3

24. 
[image: image37.wmf]14
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32. a) 4x-2


b) 2x-6


c) 
[image: image38.wmf]8
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d) 
[image: image39.wmf]2
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36. a) 
[image: image40.wmf]2
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b) 
[image: image41.wmf]x
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c) 
[image: image42.wmf]1
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d) 
[image: image43.wmf]1
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 does not reduce

42. a) 6


b) 
[image: image44.wmf]x
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c) 
[image: image45.wmf]2
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d) 6x-1

54. a) 
[image: image46.wmf]62
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b) 
[image: image47.wmf]7
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c) -6

76. 
[image: image48.wmf]3
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, this is not the only possible answer

104. a) -.44 (for each year, the profit decreases by .44)


b) .51 (for each year, the profit increases by .51)


c) .07x + 24.76, slope = .07 (profit increases by .07 each year)

2.7

10. 
[image: image49.wmf]41
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24. (-5, 5/2)
36. 
[image: image50.wmf]9
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44. center = (2,3) radius = 4; domain: [-2,6], range: [-1,7]

74. completing the squares
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